Developper

A = (x+11) (10x+6)
B = (10x+3) (8x+8)
C = (8x+3) (2x+8)
D = (8x+11) (7x+3)
E = (9x+5) (11x+9)
F = (11x+2) (5x+8)
G = (bx+1) (10x+9)
H = (9x+8) (5x+2)
| = (11x+6) (5x+4)
J = (6x+11) (2x+8)
K = (3x-6) (3x+10)
L = (-8x-3) (9x-4)
M = (1x-8) (-4x+8)
N = (1x-5) (-5x+8)
O = (6x+3) (7x-5)

P = (6x+5) (5x+11)
Q = (6x-8) (-8x+2)
R = (bx+6) (-4x+2)
S = (3x-9) (10x-2)

T = (2x+8) (-7x+8)
U = (-11x+11) (4x-4)
V = (3x+4) (-2x+2)
W = (-5x-5) (-8x+7)
(-4x-6) (-5x-5)
(-9x+6) (-4x+9)
(-7x+5) (-8x-5)

X
Y
Z

A = 10x2+116x+66
B = 80x2+104x+24
C = 16x>+70x+24
D = 56x2+101x+33
E = 99x2+136x+45
F = 55x2+98x+16
G = 50x2+55x+9

H = 45x2+58x+16
| = 55x2+74x+24

J = 12x>+70x+88
K = 9x2+12x-60

L = -72x>+5x+12
M = -4x2+40x-64
N = -5x2+33x-40
O = 42x2-9x-15

P = 30x2+91x+55
Q = -48x2+76x-16
R = -20x2-14x+12
S = 30x2-96x+18

T = -14x2-40x+64
U = -44x2+88x-44
V = -6x2-2x+8

W = 40x2+5x-35

X = 20x2+50x+30
Y = 36x2-105x+54

Z = 56x2-5x-25

A= (11X + 6) (11)( - 6) A=1215¢ - 36
B= (6X - 7)2 B = 36x2- 84x + 49
C= (3X + 9)2 C = 9x2 + 54x + 81
D= (2X - 2)2 D=4x2-8x +4
E= (4X - 11)2 E=16x2- 88x + 121
F = (2X + 5) (2X - 5) F=dx2-25
G= (3X - 6)2 G = 9x2 - 36x + 36
H= (11X + 3) (11)( - 3) H=121x2-9

| = (4X + 4) (4X - 4) | = 16x- 16

J= (6X + 8)2 J =36x2 + 96x + 64
K=(2x+8)(2x-8) «=s-o

L = (7X - 7)2 L = 492 - 98x + 49
M= (2X - 2)2 M = 4x2- 8x + 4
N=(2x+1)(2x-1) n=e=

O= (8X + 7)2 0= 64 + 112x + 49
P= (10X + 7)2 P = 100x2 + 140X + 49
Q= (6X + 5) (6X - 5) Q=36¢-25
R= (llX + 7) (11)( - 7) R=1213¢- 49

S = (7X - 9)2 S = 49x2 - 126x + 81
T= (1OX - 6)2 T = 100x2 - 120x + 36
U= (9X + 6) (9X - 6) U=81x-36
V= (7X - 3)2 V = 4952 - 42X + 9
W = (9X + 4)2 W =81 +72x + 16
X= (9X - 8)2 X = 81x2 - 144x + 64
Y = (9X + 1)2 Y = 81x2 + 18x + 1
/= (5X + 6)2 Z = 252 + 60 + 36
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